IV ®mEDIKRR

1T AHE
N2 TEE 2 EIRSTFEEB 6, 439 &M
RIFE SR AO01%
X 2 6FEE (BF) | 2TEE(2E) 18 o] e B
B 5 % 4, 76218 H 4, 15318 H A 9EM A 0.2%
R B F 3 61712 62818 11EM 1. 8%
H B B 1, 067{&H 1, 05812 H A 9EM A 0.8%
5t 6, 446{EM 6, 439EM| A TEM A 0.1%
CBFE10F-EDHER)
Cxsx 155 [ 128 —e—gwEamt
=0
10, 000
5.6 o5 4 %
9, 000 23. 7 23.8 23.9 23. T 23.6 23.9 23.9 23.7
23.0
8,000 [ 7,504
6917 6921 6911 6884
7,000 11, 140 ’ 0.594 6.563 6,433 6446 6 439
1,068 [1.007 [1.070 1,084 | .,
6, 000 : 1,033 11.020] 13 013 [1,020] |[1. 030
5, 000
4,000 | l4,734
4,363| |4,349) |4, 410| |4, 383
4336 |4.240 14,266 |4, 109| [4,207| |4, 198
3,000
2,000
1000 1 630
' 1,486 |1.4T5) [1.431) [1.417) |1,289| [1.821| [1,277| [1.221| [1,219] [1, 211
0
17 18 19 20 21 22 23 24 25 26 21
2% 2%
(BEHDER) (81 A)
X3 [H17|[H18[H19 [ H20 | H21 [H22 [ H23 [ H24 ] H25 [ H26
= = | 11,582 11,565 11,667| 11,750 11,780] 11,796 11,807| 11,858] 11,858] 11,883
# & | 50,218] 49,637 49,206 48,826 48 679 48,535 48 080 47,627 47,300] 46,788
5=% | 19,828] 19,396 17,848] 17,266 16,730] 15,330 14,971 14,471 14,073] 13,916
st 81,628 80,508] 78,800 77,842| 77,189 75,661 74,867 73.956] 73,231 72,587

X REEME [EEEERE] CL58F48 18 REDEEH




2 RENREE

FRK 2 TEE 2 BIRETTELE 3,087 &M
BIFEELAILL 1.5 %
X S CEF (LA | TEE(2®) | ' W | B %
1 )] = E- % 1, 482181 1, b42{8H 60f2H 4. 0%
AEEEEEEEE: 637EM 6501 138 ) o
g (& F B & (801&M) (T8/2M) | (A 2(2M)
B EE R 109(8 1448m)  3BEM 31. 4%
=t 2 119/&M 2, 19218 T3f&M 3. 4%
I® B W & 3 % 246(EM 256(E M 10/8M 4. 1%
Hormesns = 1028 oEm| oEm 0. 0%
| HEERERBRSZUESE 39318 M 3632 A 40EM| A 10.2%
ib‘ﬁ % E B R B = 183(B 1848 & 0. 2%
5 924180 so5iEm| A 29EmM] A 3.2%
=] s 3, 043121 3, 08TiEH 414120 1.5%

XEBFEA BOEHR - SEIRICIE. BEESEEBETLBREEZSALTLAEL.

GBE10FER D)
=)
7, 000
6.000 |5 166
7 5282
5000 413 [ 478 4 366
S b O 4,329 4,
4, 000 RS N (5 : < I S
sl opete2 214 3.4000 3,313 3 089
o L g ey ey 3,018 3,043 5087
3, 000 - _(O_( 685
3340 | ' S b 669 |:63T:] |:650:
2, 000 2. 395 b 203 [ 084 -
’ 1:98% 11,662 | 464 482 f, 542
1,000
1,013 [1,019 [1,009 | 944 | [1.068 1,015 [1,043 | 933 895 924 895
0
17 18 19 20 21 22 23 24 25 26 27
27 2% 27

[lwran=x [ | o ;yszs)[. | Al (@Esstass)

¥ ERIS2TEERIARE (BEESEEBE) DSTLEBRZ1TO>TLD.
(9100EM. @~®BNEM. @50EM. @120EM. @80EMH. @T8EM)




a2 THEE 2 EIRFTFRER 7,344 &M
RIFFE YL 0.5%
X va) 26FE (BH) |21EE (27F8) 18w B =X
- - 3, 051{&M 2,928/5M| A 1232M A 4.0%
W EEEBIE 1, 1991&H 1,102 | A 29(8H A 2. 4%
a) H 4, 25012 M 4,085 A 152(8M A 3.6%
RS B REEB RS 66915 M 69018 2118 M 3. 1%
z D fto 3, 681{E M 3, 408[EM| A 1T3(BM A 4.8%
TEEEE (EB]D) 3, 05715 H 3, 246f8M 1892 M 6. 2%
5 7, 30712M T, 34480 37{EM 0. 5%
MEEETBUE(E. MEA—EERD
GBE 1 0O FRBDHER)
BIEERE
| REEs | ceEEs @Rs) |
1!
8. 000 7,793
7,280 T.216 7176 7 145 013 T.092 7,307 T.344
7,000 6,603
6, 207
6, 000
3.040| [>T fa.017| [25% o 100f |, 1g1| | 73| [B-05T| |5 26
23201 11, g26
5, 000
4, 000
3, 000
4,132| |3, 843 3, 728| |3, 581
4, 210| |4 159| 4018 |3, 728| [ 884 % 090 % 408
2,000 *
1, 000 i
5
27 | s | R 542 | | 626 | | 669 | | 69 :P &
. 64 122 445 | | 612 :
17 18 19 20 21 22 23 24 25 26 27 %
&
ORI T~25FE(LREER, FAM26FE (IS TFEE. _
X 20~ 26FE(LRERE (B —1BERD) DB BRFZITOTCD.

QUFEIIBIR30EM. ORBIIRBR1TOEM. @FEII80EM. @RETI30EM
@%a_ma{%zom 2. OBIIBIR10EBEM. OBEIIBIR0EM

¥ EATEEE. MEBFE DD, BHEE
T2 TNS.

_‘]O_

D

& (BH—1BIEED) DBIIBR (B0EM) %




4 FBHENREE (RESBWEAR)

TR 2 TEE 2 ERE PELE

3, 48318 [

X ERR22~26FE(FRBER. 26FE([FBFEE.

% [ 3. —mEROEH.

- 11

BIEE LRI 6. 3%
(841 EA)
26FE | 2THE | i 5
X ) (%) (278 s B =X BRDOEZRED
= 941 1, 005 64 6.8% |pz oo
s R R I 33)|( 3 oy)| FERROIRILA
o 156 768 12 T.6% e oo e . ol
£55 1%%#?%&7]%( 481)\¢ 498 )¢ 1l 3.5% ) BEAVNBDITE « JIIEEFHBIYEDIE
Pl N 595 604 9 T.5% e oo s . o
TR BT E( 593 )|¢ 599 )|¢ 6)]¢ 1 0%) BPFES DITERIRERIEFHGHIE DRI
EREERR o44 659 s 2.8% | oz im0 7
5 ( 544 )| ( 559 )| ( 15)]C  2.8%) =
FEE - FECEE 144 249 105 T2.9% |IRBPFTESBNONEFE.
e} i =4 (¢ 144 )|( 249 )|( 105)|( 72.9%)|E -8 - mHBIIBESEE
A e e 193 197 4 2.1% P
fé,ﬁﬂrawn%liiﬁf%[ﬁ( 158 )¢ 162 )¢ ¢ o 5% ) RIERIE T REDIG
103 101 A 2 Al 9% |o= N
z ) fto ( 81| 78l A )| A3 T%) REKEFYZHRSDOM
5 3,276 3, 483 207 6. 3%
° (2,846 3,023 )|( 177)[C  6.2%)
¥ () R
[(EFFORE ((REZBURIFR) DIER) (87 =)
3, 483
(3,023)
3. 276 =
(2, 846)
3, 154 140180
(2, 710)
3, 062 -
(2, 582) 180f@H
2, 883 18018 M
(2, 403)
2,786 :
(2, 364) 208[
22 23 24 25 26 27




